
   Decimal     

Worksheet-2 

A] Select the correct answer 

1. What is the decimal form of 25/10 
 
a) 25                             b) 2.5 
c) 0.25                          d) Both B & C 

2. What the fraction form of 0.75? 
 
a) 75/10                     b) 75/100 
c) 3/4                         d) Both B & C 

3. 5 − 0.5 − 0.05 − 0.005 = ________ 
 
a) 4.554                    b) 4.454 
c) 4.445                    d) None of these 

4. Subtract the difference of 75.65 and 85.35 from their sums. 
 
a) 151.03                      b) 151.30 
c) 151.003                    d) None of these 

5. 100 × 0.865 = ________ 
 
a) 865                  b) 86.5 
c) 8.65                 d) None of these 

6. Thirteen point zero zero seven, which is the correct decimal format? 
 
a) 13.07                         b) 13.007 
c) 13.7                           d) None of these 

7. 105.070 × 1000 = ________ 
 
a) 10507                      b) 105700 
c) 105007                    d) 105070 

8. 45.6 ÷ 100 = ________ 
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a) 4.56                    b) 45.6 
c) 0.456                  d) None of these 

9. 675.987 ÷ 10 = ________ 
 
a) 67.5987                  b) 67.9587 
c) 6759.87                  d) None of these 

10. 0.7 ÷ 1000 = ________ 
 
a) 0.07                       b) 0.007 
c) 0.0007                   d) 0.00007 

 

B] Solve the following Question  

1. Convert 4⁄5 into decimal form. 

2. Convert 12 3⁄5 into decimal form. 

3. Convert 1⁄500 into decimal form. 

4. 7.25 + 29.806 + 2.65 + 7.004 = __________. 

5. 5 x 2.5 x 0.05 = __________. 

6. 23.004 x 1000 x 0.04 = __________. 

7. 121.082 ÷ 13 = __________. 

8. 3 (7.5 – 2.3) – 2.2 (1.8 + 0.2) = __________. 

9. 4.8 x 0.75 – 2.3 x 1.45 = __________. 

10. John bought vegetables weighting 20 kg. Out of this, 4 kg 500 g is 
onions, 3 kg 65 g is tomatoes and the rest is potatoes. What is the weight 
of potatoes? 

11. The cost of 15 pen is Rs. 163.50. What is the cost of one pen? 

12. 75 + 6⁄100 + 5⁄1000 = ________. 

13. If 3205 ÷ 2.5 = 1282, then 320.5 ÷ 0.25 = ________. 

14. 2 tens 5 thousandths is equal to __________. 

© PRAADIS

EDUCATIO
N

DO N
OT C

OPY



15. The cost of 5 liters of milk is Rs. 37.50. What is the cost of 18 liters of 
milk? 
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